
21

MODEL LINE FILTER
3.5MPa(35kgf/cm2)

OUTIN

F
G

A

B

A

L
h

1
1

1

2

3

D

d

d

E
LE

M
E

N
T

 R
E

M
O

V
A

L 
E

L

h
d

d

T

5

1

2

3

4

6 14

8

9

10

11 12

13

15

WITH "O"RING
AND BOLT

ONLY FOR 352
FOR 03-08 PROVIDE "O"RING
GROOVE ON THE BODY.

2×2－d TAP Depth1

A VIEW

INFORMATION OF FLAGE AND PIPING

1. Maximum Operating Pressre - 3.5MPa

(35 kgf/F)

Rated Fatigue Pressure : 0～3.5MPa=35kgf/F×107 cycles

2. 351Model is PT Connection.

(351 Model is a flange connection)

3. T connection and element removal - down ward.

4. Specify type of fluid for "O"ring compatibllity.

0.7MPa 0.3MPa 0.35MPa

Element Differential
Pressure

Option

Indicator Pressure ( Change to red ) By Pass Valve ( Opening Pressure)

03,04
06,08
10,12

16
20,24

AS568
234
AS568
240
AS568
245

AS568
250
AS568
259

G-25
P-36
G-50
G-60
G-90

P-11
P-14
P-14
P-14
P-18

P-18
P-18
P-18
P-18
P-18

P-14
P-14
P-14
P-14
P-14

G-30
G-40
G-55
G-70
G-100

ILL.#
MODEL

"O"ring and packing list

FOR MATCHING
FLANGE

SS400

NBR
NBR
NBR
NBR
NBR

SCM435
SWPA

STKM13A・SS400

FC250

2
1
1
1
1
1
1
1

1
1
1
1
1
1

JISB 2401. 1A
JISB 2401. 1A

Flange Matching
Indicator
Name Plate
"O"ring
"O"ring
"O"ring
"O"ring
"O"ring

By Pass Valve
Drain Plug
Spring
element
Bowl
Head

For 352

JISB 2401. 1B
JISB 2401. 1A

OPTION

OPTION

03～08　A6061
03～08　ADC12

PART LIST

ILL # NAME REMARKSMATERIAL QTY

Rc(PT)3/8
Rc(PT)1/2
Rc(PT)3/4
Rc(PT)1

Rc(PT)11/4
Rc(PT)11/2
Rc(PT)2

Rc(PT)21/2
Rc(PT)3

90

112

979 10 136

207

23

28

100

100

17.8
22.2
27.7
34.5
43.2
49.1
61.1
77.1
90.0

130

99

110

12

15

15

150

200

90

112

130

150

200

124.6

165.2

20

35

17

22

35

M8×12

M10×15

M10×13

M12×16

M16×21

286

349

427

38

45

63

100

150

150

7

9

9

11

15

15

18

18

24

35

64

76

92

105

133

84.2

140

204.2

254.2

304.5

1

2.3

6.9

11

27

1.5

3.2

8.3

13

33

25
44
85
100
155
180
360
600
660

Model
Distance for

Element Removal
Element Weight（kg）� Standard Flow Rate

Dimension and Standard Flow Rate

NONE
I
E

6�
36.5�
91

h1（HEIGHT OF INDICATOR）



22

P-G-351-A-08-10USample  part  number

100

0.1

0.15
03

0
0 20 40 60 80 120 140

0.05

500

0.1

0.15

0
0 100 200 300 400 600 700 800 900 1000

0.05

04

06

08

10 12 16

20 24

REPLACEMENT ELEMENT PART NUMBER
Seal Option Port Size Filter Medium Code

PRESSURE DROP INFORMATION
ISO. VG32
Viscosity: 32 cSt （40℃） 

PR
ES

SU
RE

 D
RO

P 
(k

Pa
)

PR
ES

SU
RE

 D
RO

P 
(k

Pa
)

3C : β  ≧ 200　6M : β ≧ 200
8C : β  ≧ 200

*

351
352

Rc (PT)

WITH MATCHING FLANGE

CODE
03
04
06
08
10
12
16
20
24

PORT SIZE
Rc(PT)3/8（10A）

Rc(PT)1/2（15A）

Rc(PT)3/4（20A）

Rc(PT)1（25A）

Rc(PT)11/4（32A）

Rc(PT)11/2（40A）

Rc(PT)2（50A）

Rc(PT)21/2（65A）

Rc(PT)3（80A）
CODE
-
I
E

D

INDICATOR
Blind Plug

Visual
Electric
Electric

（Less than 100mA） 

MODEL
-

IA-3
EA-3

EA-3D

FOR 351 No Tapping hole for Flange

ASSEMBLY PART NUMBER

Seal Option Port Size Filter Medium Code Differential Pressure Device Option

CODE
-
F
G

         FLUID
Mineral base fluid
Phosphate Ester
Water glycol

Not able to use with Water glycol

CODE
-
M

MAGNET
None
With

CODE
K
V

BY PASS VALVE
None
With

Sample  part  number
G-351-A-08-10U-IV

3C
6M
8C
25C
10U
20U
40U
5UW
10UW
20UW
40UW
50UW
200W
150W
100W
60W

3Micron
6Micron
8Micron
25Micron
10Micron
20Micron
40Micron
5Micron
10Micron
20Micron
40Micron
50Micron
200Mesh
150Mesh
100Mesh
60Mesh

SUS
Mesh

Nominal
Rated Medium

Contole 8Contole 8
Contole 25

Contole 3
ABSOLUTE MEDIUM

MATERIALCODE

*
*
*




